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+
98. P=4.22(2)"°

Using the written description only, t+he invhal
valawe (n 1990 (t=0) is H.22 ;) *the population
deubled (2), +he dcubliﬁg occurred aftec
lo yeaxs . '
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99. Thitial value» 360 (a)
Population doubled = 2 (b)
15minutes +o double = 195 (c)

b4
\=ab =z 4x
»5 = 600(2)? V= B00(2)
Chestec’s Answer Rosaleels Answer
Gin minudes) Gin hours)

The 2 Suncticns have Yhe same base (b=2)

because the FoPuermn 1S doubling , and +he}t
hove he same nihial Yoalue (a=800) because
regardless oF +the units of +ime | theinhial
population Sor the bacteria is 300 /mm?

*Chester needed the resulting exponent +o be
| When he subsrituted 1S min forx
This could only be achieved by using an
exponent 65 & in his function.

* Kosalee needed +he resuHmS exponent
o be | when She substitutred & For x-
s could only be achieved htj using
g Cxpgﬂ&ﬁ't’ o H in i"‘lE"(‘"'?L.LhC"i‘l'cn

L Therefore . beth students are Correct |
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136
PS .-‘:-
3. P=13c0)*

d) The initval concentration of bacteriq
WOS 300 bactena fem?.
b) Tt 4akes 20min Sor the concenbration
)‘Eo Adouble. -
b= 5=
P= 300 (2)*
if\ S50 mkﬂ;%%
P= 3c0o (2)/
= 300 (2) 7 |
= 1697 bacteria Jem?®
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PG
34 tial amount of carbon=-i4 *1.8m (‘»::1‘)
Decays to half its onginal mass> /2. (o)
D750 yeors fo decay oy half> 5750 (¢)

o) Equations y=ab? &g S
Ruation \il-:@.%(‘iz) oR \,=2.8(‘:a55

b) TE¢ +he SKull weve 12000 years old ¢
8O0

\ $i5e
N= 2.8('2)
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35 . Thdt al amount of wnvestment +diooo (o)
']-—!ﬂve.ﬂ'hﬂﬂh"l' doubles & 2 (b)
Doublmﬂ Lime = 8 (c)
£ s y=ab®
t_.k.(::.'tl'Oﬂ o =Q X
® -¥= 1000 (2)
ﬁﬁ’w‘:r{i'ggrt‘.a after M \ieursi N = 1000(2)%

= looo(2) "
11 =d 148 21

gjim“é QSSump't\ch wasS Wreng h{i.ca&us&c_
after 4 years his lnvestment Will be
worth 8 i914.91.
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Sbo. 'irnhql pgpu'l.c{--}-.'nn—-?\B‘SOG
Sfter § d“ﬁ"‘s = LI 0O

CC- [xatanlela) RC&'+! o= QQ CoO

3300
= 0.628 6

Q) [\;(Luu-l'mn o \ —ub 5
W - 3500 (0.6256)

bj \Pl?'"‘tr “ dDL\].' 8%

')'.

N = 3500 (0. eme)i
N, =3500(0.62%6) %,
Y = 3500(-; 6256)"
=[3%8 ?rﬁcjs
QR Withouwt +he e q_o_hcﬁ
Deay O 3500 fvoqs
BQ:, 9 2200 JFnE{ ) i

Day H f—r{,ﬂg, JXL{LL!&- )

¢) After T days ¢ N = 3500 (0.6286)"
N = 39 ?mﬁs.
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